Paired Sample t Test (16/04/2019 15:42:26)
Input Data
Data Range
1st Data Range | [Book1]'0+100uM ATP"IA"0 ATP" [1*:8¥]
[Book1]"0+100uM ATP'IB"100uM | [1*:8%]

2nd Data Range AT

Descriptive Statistics

N Mean SD SEM Median
"0 ATP" 8 -2.42686 0.97287 0.34396 -2.18359
"100uM ATP" 8 -0.90564 0.42716 0.15102 -0.7687
Difference 8 -1.52122 0.70733| 0.25008 | -1.43932
Overall 16| -1.66625 1.06955 0.26739| -1.43058
Test Statistics
t Statistic = DF Prob>t|
-6.08297 7 4.99402E-4

Null Hypothesis: meanl-mean2 = 0
Alternative Hypothesis: meanl-mean2 <> 0

At the 0.05 level, the difference of the population means is significantly different from the test difference(0).
Confidence Intervals for Mean

Conf. Levels in % = Low er Limits Upper Limits |
90 -1.99502 -1.04743
95 -2.11257 -0.92988
99 -2.39637 -0.64608
Powers
Alpha = Sample Size Pow er
Actual Pow er 0.05 8 0.99923
0.05 50 1
Hypo. Pow er 0.05 100 1
0.05 200 1
Plots
Histogram Box Plot
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*** p< 0.001, paired t-test



